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New and Improved Law of Tangents & Squaring Proof 

Reproof 4 ICHTHUS (𝚰𝚾𝛉𝚼𝚺) 

COT OBJECTIVES 
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     Footnotes 

• Proof is giving the explicit squaring value, for now and for such a time at a 

time we have, in forward and direct order & all things in order, we have a 

supernatural intervention of God, powered by grace, mercy and favor, this 

work was performed in between, but it was a table of abundance, that started 

with small values or –angle theta—the people were in between (in a dry 

place) they blessed, broke and gave thanks, and everyone was filled 

abundantly, this proof was of a cot nature— 

 

• Irrevocably here we have a cot notation proof of work, inside of time, such 

that it multiplied bread and fish, and inherently there were multiple 

fragments let over --theta- 

 

• Attributed to the English manifest of I <Iaw Yaoh> or Jesus θ-The- Σ Savior 

 

• Squaring in order and at a very high magnitude, fairly and in the Highest 

Christian manner, without an overloaded consumption of debt and without 

confusion or the need to cheat people or operate in the spirit of oppression, 

surely it shall come to pass, hence is Philippians 4:13; I can do all things 

through Christ who strengthens me. 
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Now squaring in order and a respectable ‘Law of Tangents’ this       

is what we have: 

   

                                                                If,       −∞ < tan(θ) < ∞ 

 

• Hence the law of tangents is subjective to eternal, or until the return of the Lord, because 

the land is eternal in time, or until the return of the Lord.  Nobody technically owns the land, 

they only, have a subscription = s∞ < t < return of the Lord; reference composite proof of 

(s). The earth is the Lord’s and the fullness thereof –Psalm 24:1--  

 

 

                                               Then,    tan2 (θ) + 1 = sec2 (θ) 

 

 

• Therefore, it is respectably possible to square in-between (very likely & respects law of 

tangents in decent and in order), 

 

                                                              Otherwise, tan2 (θ) = sec2 (θ) – 1  

 

• Referencing the previous proof  --See Lion of Judah Proof we have, 

 

S3.5 = 
2𝑒𝜋𝜃

𝑠𝑒𝑐2𝜃−1
 

 

↓ 

 

S5 = 
2𝑒𝜋𝜃

𝑡𝑎𝑛2𝜃
 

 
** Please note after 5 we count it whole numbers 

 
“You are the Lord God, 

Who chose Abram, 

And brought him out of Ur of the Chaldeans, 

And gave him the name Abraham; 
8 You found his heart faithful before You, 

And made a covenant with him 

To give the land of the Canaanites, 

The Hittites, the Amorites, 

The Perizzites, the Jebusites, 

And the Girgashites— 

To give it to his descendants. 

You have performed Your words, 
For You are righteous. 

                                                                        Proof is tangent and eternal until the return of the lord; s < t < ROG;  


